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@ x+(x+1)+(x+2)=57
@ (x-1)+x+(x+1)=57
® (x-2)+x+(x-1)=57
@ x+2x+4x =57

® x+(x+2)+ (x+4) =57
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@ 2(7T+x)=x+7-18 @ 14x-18=10x+7
® 4x=x+7-18 @ 70+ x-18 =2(10x+7)
® 2(70 +x) = 10x+7-18
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@ 454+x=39+x @ 454+ x =13+ 3x

® 45 =3(13 + x) @ 454+ x=2(13 +x)

® 45+ x=3(13 + x)
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@ 900 = 2(700 - x) @ 900 - x = 1400
@ 900x = 1400x @ 900 — 2x =700 — x

® 900 - x = 2(700 — x)
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@ 4000 + 1000x = 10000 + 500x
@ 4000x + 1000 = 10000x + 500

® 4000x + 1000x = 10000x + 500x
@ (4000 + 1000)x = (10000 + 500)x

® 4000 + 10000 = x
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@ 0.05x—0.03(800-x) =8 @ 0.95x+0.97(800 — x) = 8
® 1.05x+0.97(800-x) =8 @ 0.05(800 — x) — 0.03x = 8

® 0.05x + 0.03(800 — x) = 8
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® 25 @ 27 ® 29
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O 42 @ 54 ® 66 @ 78 ® 90
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D 300 ¢ @ 350 ¢ ® 500 ¢

@ 700 ¥ ® 800 ¥



12.

=

A1 100 Y& &elsto] = 250 Yo o]

ol® ol et @7tell 5 &ef o] & Zof A7}

D 500 ¢ @ 600 ¥

@ 800 ¢ ® 900 ¥
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@ —-4x-3=3x+4

® 3x-4=4x-3

@ -3x-4=4x+3

® 3x+4=4x-3

® 4x+3=3x-4
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